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Paper / Subject Code: 86012 / Marketing: Media Planmng & Manaaement
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Paper / Subject Code: 86005 / Elective : Finance: Innovative Financial Services

TIME: 2.5 Hours

Note:

TYLHS- seng—1
@@,/ 0 D4
| ¢ %éxmcs: 7

5

1.Qlis compulsory.

2. Q2 to Q5 are compulsorywith internal choice.
3. Figures to the right indicate full marks.

4. Give working notes, wherever necessary.

Q1. (A) Select the correct answer from the multiple choice guestions (Anv8) (8)

n

a. Portfolio Management b) Factoring ¢) Venture Capital  d) Underwriting

2)

6)

7)

§)

9)

10)

25439

is a Fees based service.

factoring is a worldwide system of all factoring documentation requiréd for
the paperless trading environment of electronic data.

a) Cross Border. b) Invoice  ¢) Disclosed d) EDI

bills*are payable immediately “at sight® or * on presentation’ to the drawee.
a) Expired  b) Usance ¢) Demand  d) Kuight Bill

are contracts that derive its value from an underlying asset.
a) Factoring  b) Forfeiting  ¢) Derivanives d) Hire Purchase
[n Hire Purchase depreciation ean be claimed by the
a) Hirer b) Vendor c) Financiers d) Lessor
In Securitisation, issue of securities is done by
a) SPV b) Underwriter c) Depositor d) Insurer

Jease is used for short period ot lease service.
a) Financial b) operating ¢) Combined d) Capital
is provided at the product development stage.

a) Start up fund b) Private Equity Fund ¢) Seed Fund d) Mezzanine capital

. " is a boon for a consumer who can enjoy the possession of goods without
paying for it immediately.

a) Consumer debit  b) Consumer credit  ¢) Consumer conract d) Consumer asset
is NOT a credit rating agency of India.

a) CRISIL: ‘b) ICRA c) PFRDA  d) CARE
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Paper / Subject Code: 86005 / Elective : Finance: Innovative Financial Services

Q-1B) Answer the statement true or false (any 7) (7 Marks)

1) NBFCs hold a banking license..

2) Factoring is a fund based financial service.

3) Clean Bills are accompanied with proper docunients.

4) Unsubscribed shares of the companies are purchased by brokers.

5) The SARFAESI Act has been enacted to regulate Factoring.

0) Lessee is the person getting the benefit of asset taken on Lease.

7) NHB is a wholly owned comipany of SEBI.

8) The etfective rate of interest on consumer finance is much lower than the rates
applicable to business finance.

9) Credit score shows the credit worthiness of a borrower. |

10) Issuers with lower credit ratings pay bigher interest rates embodying larger risk
premiums than high credit rated companies.

Q.2 (A) Describe therole of agencies that provide financial services in the market?(8 marks)

Q.2 (B) How beneficial Forfeiting is for Financial services sector? (7 marks)
Q.2 (C) Explain the challenges faced by financial services scctor in India. (8 marjks)

Q.2.(D) Under an advance factoring arrangement, AYM Factors Ltd. has agreed to advance a
sum of Rs. 20 Lakhs against the receivable purchased from ABC Ltd, The factoring
agreement provides for an advance payment of 80% of the value of factored receivables and
for guaranteed payment after 3 months from the date of purchasing the receivables. The
advance carries a rate of interest of 14% p.a. compounded quarterly and the factoring
commission is 2% of the factored receivables. Assume that the interest is collected in arrear
and the commission is collected in advance. Compute the amount actually made available to

ABC Ltd. ' (7Tmarks)
(2.3 (A) Describe the registration process of Stock Brokers. (8 marks)
.3. (B) Who are the players in Securitisation process? (7marks)
(OR)
Q.3 (C) Elaborate types of Derivative Contract. (8 marks)
0).3.() Why Securitisation is not popular in India? (7marks)
Q.4 (A) State the difference between Financial and Operating [ease. (8 marks)
Q.4 (B) What are the reasons for high demand in indian Housing Finance Market? (7 marks)
(OR)
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Paper / Subject Code: 86005 / Elective : Finance: Innovative Financial Services

Q.4 (€) Write down the benefits of Leasing service. - (7 marks)
Q.4.(D) Mr. Abhyudaya buys a maching on hire purchase basis at'the price of Rs. 60 lakhs at
the rate of 15% p.a. interest rate. Term of Hire purchase contract 1s 6 years. Find out
instalment payments per annum if:
a) Principal is divided and payable equally over the period of 6 years.
b) Amount of instalmentis payable equally over the period of 6 years.
Prepare a table showing principal and interest payments and the total payable over the

period of 6 years, - (8 marks)

Q.5 (A) Explain in detail frauds and misuses of Plastic Money. (8 marks)

(.5 (B) What are the types of Consumer Finance? (7 marks)
(OR)

Q.5 (C) Write short notes on any three (15 marks)

. Sub Brokers
ii.  Special Purpose Vehicle
iii.  Underwriting
iv.  Smuart Cards
v.  Process of Credit Rating

S Rk kR e ok Sk
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Paper / Subject Code: 86006 / Elective : Marketing: Retail Management
TYBMS  Sew —XL
Apnl ~ 2024

Time: 2 ¥2 Hours Max Marks: 75
Instructions: All questions are compulsory and carry 15 marks each.

Q1.A Choose the right answet (Any eight)

1 means mainfaining basic required stocks to fulfil consumer demands.
L. Inventory management. ii. Store management
1ii. Category management iv. Retail management
2 Electronic retailing permits AV
. Touch and feel factor ii. Reduction in set up cost
il Point ot sale terminal. iv. Visual merchandising
3 _1s not a customer retention approach.

i. Frequent shopper programs. i1, Personalization iii. Loyalty cards iv. HRM

4 hasparallel vertical lines that can be read by scanners.
1. Electronic article surveillance  iiBarcode  iii, RFD iv. Stock keeping
unit
5 1s a process to identify &determine in detail the particular job duties and
requirements. :
i. Interview  ii. job analysis iii. Training iv: Selection .-
6 A store 1s located without any competitor store around it.
i. Part of a business district  il. Freestanding
iil. Shopping centre 1v. Hypermarket
7 __is a blueprint that states the arrangement of a store.

1. Store lay out  ii. Planogram iii, Space  iv. Store aisle

8 products enjoy popularity and generate lot of sales in d short span of time

i. Fad 1i. Seasonal 1ii. Variety 1v. Assortment

9 Inaretail store,  inform the customers about the products, offers and price
1. Managers ii. Fixtures 1. Mannequins  iv. Signage

10 Mostly, it’s the of the store that draws the customer’s attention to the store.
1. Layout i1 Exterior il Interior  iv. Display

Q.1.B  State whether the following statements are True or False (Any Seven)
1 Retailer is the last pomnt in the distribution channel.

2 Multi-channel retailing ts use of more than one channel to reach customers

3 A department store stocks a particular type of merchandise

4 Online fraud is a limitation of e-tailing,

5 Shopping mall is un example of Destination location

6 Loss Leaders are sold below the cost.

7 Generic brands target price sensitive segment by offering no frills product at a

discounted price.
8 Visual Merchandising is also termed as Silent Salesmen.
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Paper / Subject Code: 86006 / Elective : Marketing: Retail Management

Government of India has allowed FDI in retail sector
Customer Loyalty means that customers are committed to shopping at retailer's
locations. ' '

Explain the functions performed by retailers

What do you mean by electronic labels? Discuss the significanee of'the same
\ : (OR)

Deseribe the different types of franchising

Explain the advantages of E-Tailing

Explain the factors to be considered before finalizing the store location
Discuss Any four customer retention approaches
| - ©R)
Explain the objectives of CRM in retail
Explain market research as a tool for understanding retail shoppers

[xplain Buying Cycle in Retail, Lifestyle merchandising & Category Captamn
Fxplain the principles of merchandising

(OR)
Explain the various pricing strategies that can be adopted by the retailer
Explain the need of private label brands in India

Discuss the 5 §'s of Retail Operations

Explain the Role of Store Manager in a Retail Store
(OR)

Shart Notes (Any three)

Store Design

Airport Retailing

Store Atmospherics

Career options in retail

Mall management
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TIME - 2.5 HRS

Paper / Subject Code: 86009 / Marketing: International Marketing
TYBMS Sem - xr
Ao} — 2027

NOTE ~ a. ALL QUESTIONS ARE COMPULSORY

1. A) Choose the correct alternatives (any 8) 8 marks
bo: comsscana orientation refers to exporter viewing international marketing as secondary to
domestic operations < '
a. Ethnocentric ' b Polycentric ¢. Regiocentric d.
Geocentric
v AV . - licensing is a type of international licensing
a. Strategic alliance b: fakeovers - ¢. cross d. partuerships
G T e is not'a positive-impact of trade barriers
a. Accelerates growth b. additional revenue
c. protection to domestic industries  d. free movement of goods and services
A svoniel S oiasaimare fans susns 1s a-sister institution of IMF
a. World bank b 1FO ¢. UNICEF d. RBI
5. Custom regulations are . barriers of trade.

b. FIGURES TO THE RIGHT INDICATE FULL MARKS

a. tariff - b. non tariff ¢ political d. social
6. Health and safety warnings a-ré}‘ included in

a. packaging b. blandlng c. 1'11)61111]0 d. pricing

7 Intelmtlonal ma1ketmo is dommated by __ countries,
a. poor b. developing c. developed d. rich

8. Trading blocs give benefits.to ___ countries.
a. member  b. nolmn‘éhi:ber c. rich d. poor

9. Macro environment r‘épresent? environment,

a. external b.internal c. mtemauond] d. domestic
10. Break Even Pricing means
a. Only Profit b. Marginal Profit c. Onlyloss d. No Profit no Loss

1. B) Match the following (any 7)
marks

. _MARKS 75

Free movement of labour and capital

E

1 | Concentrated marketing A
2 Modern technique of control B | Uniform fiscal and monetary policies
'3 | Distributien channel C | Regional economic grouping
14 | Low prices in introduction stage D | Identifying potential market
5 | International marketing reseaich E | Export consortia
6 Common market F | Penetration pricing
7 Economic union G | One single target market
8 | Trading bloc- H | Management by objectives
|9 | Standardisation [ | Buyback
10 | Countet trade J | Uniformity in products offered
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Paper / Subject Code: 86009 / Marketing: International Marketing

2. A) Differentiate between Domestic matl\etmg aiid mtematlona] markctmg g

B) Enumerate on different typus of tariff barriers : o .07
OR N, . .-;I.‘_ : h
2. C)Explain briefly about SAARC and its objectives ' 8
D) As an international marketing student suggest any three mtmntmnal markr.t entry:”
methods. ' A s
3. A) Explain briefly the steps in international marketing rcqe"nch s Y 28
B) Discuss Hofstede’s six dimension of culture. Rl > T
. OR O '
3. C) What 1s international m,ule':,uﬂ genv nonmwt‘? Explain economic cnvuunment 8
D) Explain economic integration and its types A 7
4. A) Discusg bases for market segmentaiion i international marketing ROl
B) Mention differenl types of international distribution channels.: ' 7
OR |
4, () Highlight various international pricing methads. 8
D) Explain various intemational promotional tools. ' _ 7
5. A) Mention the steps in selection of overseas market ' = -8
* B) Distinguish between Multi domestic strategy and global strategy T 7
_ OR )
5. Write short notes on — (auy 3) &y 15
‘a. Transnational strategy
h. Service culture

Transfer pricing
Mass marketing strategy
World bank

ERYEFER e kR g

36541 Page 2 of 2



Paper / Subject Code: 86008 / Finance: Project Management
TPV ey
2%

Time: 2.30 Hrs A Marks: 75
(A) Multiple Choice Question: (Any 8) RN . (8)
l. project are those set up within the national bouudari_& of a country.

(1) National (i1) International (ii_i)-Normal (iv) Private

2: is the long-term strategic decision which determines a company’s capability to
supply products or services.
(1) Project Management Maturity Model (PMMM) (ii) Continuous improvement

(1i1) Capacity planning (iv) Procedural
& s the set of tasks grouped chronologically into processes and the set of people o
resources needed for those tasks.

(1) Organisation (i1) Worktlow (iii) Project  (iv) Organisational siructure
4. __ analysis enables the government to take up new developments which will benefit
everyone and not just a few.

(1) SWOT (i1) Environmental Impact Assessment (EIA)

(ii1) Feasibility studies (1v) social cost benefit
3. is the process of tracking, reviewing, and reporting the progress to meet the

performance objectives defined in the project management plan.
(1) Project Management Maturity Model (PMMM) (i) Monitor .and Control Project
Work (iii) Project management information system (iv) Project auditing

6. ~are instruments for raising debt capital.
a. Equity '
b. Preference

c. Factoring

d. Debenture

T _is the number of days a compadny takes in'realizing its inventories in cash.
a. Cagh'Cycle ' &

b. Operating cycle

¢ Debtor cycle

~d. Creditor cycle

h
LI
]
wh
o
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Paper / Subject Code: 86008 / Finance: Project Management

kad
K
8 IfPI< 1 then reject the project. .
a) Accept "
b) Reject
c) No effect - . SO .
d) Positive effect
. R AN 2 FEAVEREE
9. _ _ _ contains the recognition that process improvement is necessary to maintain a

competitive advantage.

a. Level 1- Common Language
b. Level 2-Common Processes

c. Level 3-Singular Methodology
d. Level 4-Benchmarking

e. Level 5- Contmuous Improvement
I AN P
i'\ )‘

10. The key to a successful ploJect is in the A_
(1) Planning (i) Organising (iii) Momtmmu {w) Implementation ™

(B) Match the following: (Any 7) | (7)
~Group ‘A _Group ‘B’
{#)- Feasibility study | (i)~ Inter nal and positive factors ‘
(b) Technical (i) A tool "used to identify the |
feasibility ) environmental, social and economic
; o impacts of a project prior to decision-
-making.
(¢) Economic. (iif) Financial analysis
viability _ _ :
(d) Swot (iv) Extcﬂmi and positive factors
(e¢) Strengths " [(v) Strategic planning tool
(f) Weaknesses (vi) Technology .
(g) Opportunities (vii) External afid negative factors
(h) Threats (viii) Better use of available raw material
(i) EBnvironmental - | (ix) Improve the standard of living in
impact society -
assessment - T ;
(i) Positive NPV (¥); Internal and negative factors
(i) Accept the proposal |

Q2. A. Discuss Project Management Maturlty Moaodel. 8)
Q2. B. llnw is ])lu‘]LLt ulqss1ﬁed? ; | )
OR
53258 Page 2 of §
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Paper/Subject Code: 86008 / Finance: Project Management

(15)
Q2. A company can make either of two mvestments. Assure a required rale of return at 10%, -
determine for each project.

(a) Net Present Value.
(b) Profitability Index. :
The cash inflows of the two projects are as follows:

Pa rticulai' A B

Cost of Investment [ 10,00,000|12,00,000
(Rs.)
Expected Life 5Years| 5 Years
(No Salyage) o ad
Cash Inflow: :
Year 1 80,000 90,000
2 70,000 1,350,000
3 d 80,000 1,00,000
4. 70,000] 86,000
A5 % »00,000| 780,000

Yeard | Year ﬂ
0.683 0.621

I | | [*¥ear | [Scar 2 | Year 3
PVolRe. 1@ 10%| 0.909 N0.826 | 0.751
‘ of: - e "

Q3. A. What is.the importanice of project planning? (8)
(23. B. Discuss government asmtamce toward project management for start-ups (7
OR
Q3. The data relafing to two'‘companies are as given below: (15)
N ' Company Compan
Particular "{)‘ v 1?? y

quuity Capital @Rs 10/- each

10% Debenture

Rs: 5,00,000
Rs. 4,00,000

Rs. 3,00,000
Rs. 6,00,000

Output (unit) p. w. 20,000 30,000
Selling Price Per unit- Rs. 35 Rs. 30
Fixed Costp.u. - Rs. 5,00,000| Rs. 1,00,000
Variable Cost p. u: Rs. 20 Rs. 10

You are ruquncd to calculate 1he opemtmu leverage (OL.), financial leverage (FL) and combine
leverage (CL) of two companies. Tax raté 30%. find out impact of lm,moca on Cost of Capital.

Q4. A. What is Risk? State and explain various types of risk in project.
Q4. B. What are the reasons forproject termination?

Lhn
tad
[SS]
n
co

OR
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Paper / Subject Code: 86008 / Finance: Project Management

Q4. On 31 March, 2022 the balance sha{:ﬁt of Gomati Ltd. was as follows; ~(15)

'_'E';alance Sheet

Liabilities ;. Rs. Assets Rs.
Share capital: / ' a3
Authorized 20,000 equity shares |2,00,000 |Land and buildings | 3.00,000
of Rs. 100/- each ',
Issued and paid up 15,000 Furniture 11,72,500
equity share of Rs. 100/- each '
15,00,000
Less: Calls in arrears at Rs. 20/- | 14,98,000 | Stock 4.50.000
each 2,000
Reserves Ale: 1,54,500 | Sundry debtors 9.07.500
Bank Overdraft - 32.000 Bills Receivable 20,000
Creditors 1,15,500 [Bank ¢ 1.30,000
Bills Payable 67,500 "y
Outstanding Expenses 1,12:500
19,80,000 | 19,80,000
The net profits of the comps uw Jﬂbl providing for tax were as follows: .
Year Ended | Rs.

315 March, 2022 [ 1,82,500

315 March, 2021 1,70,000

31 March, 2020 1.97,000

31% Mareh. 2019 1,85,000

| 31° March, 2018 145,000

On 31* March, 2022 Land b building were v aliies at Rs. 4 ,75,000 and Furniture were valued at
Rs. 2,05,000. Normal rate of return can considered at 10%. Goodwill is fo be valued at
Rs. 77.800.

Find the m[rmsxc value-of fully paid and partly paid equity shares. Consider closing employed
as.average ce 1p1td] employtd

Q3. Calculate the important ratios for granting term loans and give your recommendations
from the following 111f0rm¢1t|0n (15)

(Rs. in Lacs)

Year ' 1 I 1

Proﬁtbefon, Interest'& Tax| 60.00 | 80.00 [100.00
v ) .

~Tax rate 40% . ;
Loan is repayable in equa] ingtallments at Ihe end of the each of the 3 years along with interest.

Loan amount; Rs. 420 lacs (@ @ 12% p.a.
C‘aplzczl investient in p:ojcct Rs. 600 lacs depreciable equally over 3 years

53258 , Page 4 of 5




Paper / Subject Code: 86008 / Finance: Project Management

Q5. Write Short Notes on: Any 3 2 (15)

a. Forms of organisation structure

b. Production Planning and Control.
c. Continues improvement.

d. Significant of Demand Forecasting
e. Conflict in Project Management.

-
-
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Paper / Subject Code: 86007 / Elective : Hiuman Resource : Organisational Development

Duration : 2 Y2 Hrs.

7’7’5&5 — S
W | 2024

Note : All Questions are compulsory subject to Internal choice

Q1 A) Choose and Write correct answer from the options given below: (Any 8)

il

Each question carries equal marks.

OD interventions reduce unnecessary
(Conflict/Competition /Work /Collaboration)

2. In expert power the power holder has
(Expert Knowledge/Teams/lnﬂuenCe/Legal rights)

3. OD programis increasethe ___ of employees.
(Motivation/Salaries /Tenure /Perks)

4. Process consultation is a technique of OD intervention.
(Traditionai/ Outdated/ Modern/Discontinued)

5. Sensitivity Training is also knownas ______ training.
(Laboratory/Cn the Job /New /Theoretical)

6. In OD Good leadership results inimoie
(Prafits/turnover of employees/committed stafl /payments from suppliers)

7. The process of power is connected with ____
(Profit/Greed /Politics/Information)

8. is the last phase in organizational diagnosis.

" (Analysis/Feedback/Entry/Study Design)

9. Strategy is also known as entrepreneur strategy.
(Reposition /Marketing/ Retrenchment/Replacement)

10.The process of OD is based onthe action _ maodel.

(Research/ Reaction/Analysis/Restilts)

Q1 B) State Whether foilowing statement is true or false: (Any 7)

N oA W =~

8.

9

10.The OD mahager plans, develops, implements and administers HR programs for

51244

Business Process Reengineering is not a subjective process.
Timing Tactics analyses both the decisions and the actions taken.
Organizational development is critical to product innovation.
Unobtrusive data are collected directly from respondents .
Deception is any form of unethical and will destroy trust.
EOngitudinal evaluations in OD are often challenging to conduct.

Total Marks : 75

(8)

The consultant acts as an advisor, who presents the suggestions and perspectives

as a solution to the problem.
The Arbitrator is the most powerful type of intermediary.
The infant stage is the stage of decline.

company empioyees.
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Paper / Subject Code: 86007 / Elective : Human Resource : Organisational Development

Q2 A) Discuss the objectives of Organizational Development. (8)

B) Explain the Participation of top managemént in Organizational Developmient. (7)

OR
C) Exviain the relevance of O_rg-anizat_i'onai Deveibpment for managers. (8)
D) Discuss Organizational Development in Global Setting. (7)
Q3 A) What is Organizational diagnosis? Explain its need. (8)

B) Define Crganizational renewal. What are the technigquas of Organizational renswal?

(7)
OR

C) What do you mean by Business Process Re-engineering? Explain its Features. (8)

D) Explain the role of change agents. (7)

Q4 A) Explain the different types of Org anizational Development interventions. (8)

B) Briefly the traditicnal techniques of Organizational Deveicpment intervention. (7}
OR

C) Explain the features of organization development intervention. (8)

D).Explain the methods of Evaluation of Orgarizational Development

intervention. _ (7)
Q5 A) Flaborate on Value Conflict and Dilemma. (8)
B) What are the ways to enhance organizational effectiveness? (7
' OR
Q5 C] Write short notes on. (Any Three) {15)

1. Organizaticnal life Cycle.

2. OD-HRD interface
3. Ethical guideline for GD Professionals.
4. Values in OD.
5. Transactional Analysis,
51244 pA
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Paper / Subject Code: 86003 / Elective : Marketing: Brand Management
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[Time: 2% hours] [11\./_1';.11~ks:75] "

Please check whether you have got the rnight question paper.
N.B: 1. Figures to the right indicate full marks.

2. Draw suitable diagrams wherever necessary

3. Illustrate your answers with examples

4. Rewrite the questions for Ql.a and b.

. Multiple Choice Questions (ANY EIGHT)

is not a scope of branding.(Physical goods. Services, Retail, Savy customers) -

. The tagline of Bournvita is ~(The Taste of India, Taan ki shakti Man ki shakti, Kuch mecta

ho jaye, Daag Acche Hain) :
is quantitative research technique. (Completion, Comparison, The Big Five, Brand
Response) 3 &
is discount pricing policy. (Value pricing, Cost-hased pricing, Everyday:low pricing ,
Introductory pricing)

. Brand Asset Valuator (BAV) model was given by _ Global Advertising Agency. (Omnicom

Group, WRP PLC, Y-oung and Rﬁbicam, Ogilvy, and 'z\“/i;uhcr)

. Under ' value'stage, does marketing activitics like product research, design and development

take place. (Progtam Quality Multiplier, Marketing Programme Investment, Customer Mindset,
Investor Sentimént Multiplier)

. Product mix is also known as _. (Product assortment, Product line, Product catalogue,

Product classification)-

A brand is defined as a brand that is used in move than one product category but is not

necessarily the name of the company or corporation. (Range/Family, Corporate, Modifier,
Individual) _ .

_ individual brand is presented to consumer as a parcnt company. ( LUX- Unilever, Swiggy.
Zomato, IKEA)

10.Managing brands for the long run involves . (reinforcing, rejection, accepting, enacting)

LY N — o

N

. State whether the following statement is TRUE or FALSE (ANY SEVEN)

. Branding is a strategic point of view, not a select set of activities.

. Brand awareness consists of brand recognition and brand recall performance.

. Relationship marketing attempts to provide a more holistic, personalized brand experience to

create stronger consumer ties.
Channel, strategy includes the design and management of intermediaries such as wholesalers,
distributors, brokess, and retailers.

. Licensing creates contractual arrangements whereby firms can use the name, logos, characters, and

so forth of ch,éf brands to market their own brands for some [ixed fee.

. Brand Personality can be defined as a set of human characteristics associated with a brand.
. Aided recall could be gauged-by asking the respondent to mention the brands in a particular

product category.

. Brand strength measures the ability of the brand to secure the delivery of expected future earnings.
. The ‘breath of @ branding strategy describes the number and nature of different products linked to

the brands sold by the firm.

10 Green marketing is the marketing of products that arc presumed to be environmentally safe.

37018 Page 1 of 2
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Paper / Subject Code: 86003 / Elective :_M A l;ctuu., Bl and Management - e

‘_‘\_. Ny _ ,_‘_\_. Fo :‘-' ?
T e QY T TR LAY
Answer the followi ng = J‘i'”‘ o~ _ : 3 =
Point out the difference between B1 cmd vclsus Product;- ; Pos ) (08)
Infer the term [ntegrated Marketing Conmnum.dtmn UMC‘) B 111'_"1glmlt the various tools 6F IMC  Z{07) »
used by a brand manager. ok \ b A
A’ OR (o o N i
. Construet the Brand Value Chain mpdel in dqt:nl with L\QI]'I}'_)’L' : \, 68y
Mustrate the Brand Product Matlm with examples. o ' & (7)
“\-U ) L5 A7 e =

. sy
. L 7 a .

Aunswer the following = =% | o
State the various criteria fcn ohoosma th br dlld e!cm»nts i you are appointed as wbrand manager (08)
for a new product. - : > o

Summarize the Bl.md Aabot leud‘cm (BAV): mud elin uue{ ' _ 3 ©7n
2 . BR A X
. Discuss the term camsc: mmlehnv H;gl:lwh[;‘s advantages for ;h" OGN PANIES. {48}
. Describe thct:,rm Brand noaitionl% ‘»lur. ils lr‘lpf‘:lfir‘u‘ﬁ 27
Answer the iullowmﬂ ! N £ o
Infer the téfm brand puammlii\-‘ \Stdtu the big; five model ul brand persondlity. S {1
. What are’ ﬂmnd exlen sions? L plain its advdntages and disadvantages. {47)
GR g
. Diseuss the ( ‘u::tomel E iaau‘ Brand Eguily (CBRE) medel willvexample. ©(08)
. B pr in perceived quality-and relationship marksting in product strategy. : (07
- Write Short Notes on {ANY THREE) .~ A (15
Importdnce of brand to custm,né'fs. ‘ - '
Brand-leveraging. ;
Pl and awareness pw'lmxd
Brand hier |.1|Iuh‘(
. ..xuwt;ilmug. brand. A
' OR
Case Study
The Bady Shopris a ziultah skincare, imhun-., and cosmetics company and hns & range of 1000
products and-sells over-3000 plus fianchised and owned stores. The brand believes in eruelty-free
produets where no airals are harmed while making the products. 1 uses fresh and sustainable
ingredients and has found alternative techiiologics for testing on animals. Taday consumers are
looking - forward o maintaining a healthy lifestyle ‘and use organic products on their skin. The
Body: Shop has: been positioned strategically to meet these requirenients. They meel the customer’s
need for a healthy lif L‘bt\'lt by using all natural and organic ingredients like seaweed, sugarcane,
aloe vera, hunw tea trée, ete. The brand puts forward (he environmental concern and campaigns
against animal testing of the products. 1t is-one of the very few cosmetic cempanies that promote
health more than glamour and ‘does not use conventional advertising to promote the brand.
Oue.’stmns
Wlmt is. tht, basis of bl and [msmonmu"’ Wlm,h positioning has body shop used to create a
_ global brand umgt,') Give reason. o) (08)
b. Asapart of thubmnd mandgcment tcam suggest any four Integrated Marketing
Commumcat:om (IMC) lnolw for Body- Shop (07)

o~ st ko og ke
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Duration: 2.5 hours Marl{sf_:'-'fS
Note: Figures to right indicate marks ..
Q.1.a. State whether the foll,owing::-Si'.tlla'\_t_e,ments,\ai'-_é‘_' true or Eé{ls}e: (Any. 8) - £ - (8)

1) Microfinance primarily targets low-income individuals and communities. T

2) Microfinance has been credited with helping to alleviate poverty by providing 4,
financial resources to those who otherwise wouldn't have access to them. =

3) Cooperative banks are regulated and supervised by central banking authorities.

4) Cooperative banks operate solely for profit, similar to commercial banks. - ,

5) MSMEs are only found 1 in certaln sectom of the economy, such as mdnufactuunv and:,

services.

6) MSMEs face fewer challenges COITlde‘Cd to large enterprises. -
7) NPAs only impact the p10ﬁtab1hty of banks and have no broader implications for the

economy.

8) The Banking Regulatlon Act of 1949 does not address issues related to capltal
adequacy and risk management in baunks.

9) MFIs have no regulatory oversight and operate without supervision.

10) Transaction risk can be mltlmted throuf,h effective internal controls and risk

‘management pr achccs

52997

R e L A L T R I

Q.1.b. Match, the foliowmg (any 7)
Sl Column A 5 Column B
1 One of thb 'issues intural avea -~ 1) Aceelerating the socio-gconomic
~ e oy development of rural India
2. Ministry of rural development 2) Refinances microfinance activities of
| ol - NGOs
3 Rastriya Mahil Kosh 3) No.continuous supply of GILLfI‘lLlly
1 4 ‘Mission of NRLM 4) Démocratized funding
5 Micro enterprise =’ 5) Part of bank’s deposit which is with
A aNd “central bank
6 Crowd funding- 6) Restriction on Banking Company on
y commission, brokerage, discount.
7, Cash reserve ratio 7) Loss of portfolio for MFIs
8 Section 13 in The Banking 8) Founded on 2™ April, 1990
ch,ul'ltlon Act, 1949
9 PAR 0) Investment in machinery not exceeding
- Rs.25 lakhs
10 .,SEDBI 10) To teduce poverty by promoting self
: employment
Q.2.Calculate Breakeven point from the following details for plumbing business: (08)
Particulars - o %Y [ Rs. =
Depreciation of tools Rs.24000 per
o : yeéar
Rent per month Rs.700
Stationery per month Rs.350
Dlreuor s salary per month Rs.600

Page 1 of 3
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Paper/ Subject Code: 36014 / Klective: Finance: Iinancing Rural Developmeit

Rs. 400

.

Assistant’s salary per month _
Workmen’s salary (worker works for ~ |-Rs.25 perday
16 days in a month) ) o
Variable cost per piping “' o

Taps Rs. 150 _
| Pipes Rs.100 7

Q.2.b. Explain role of rural banl\mg; ‘

M
Ny

Q.2.a. Explain mmnmg and role of Mlcro ﬁmmce 111:3t1tut10ns in rural develo pnn.nt (0'3) |
Q.2.b. Explain smmﬁcance of dgl‘lClllt'Lll al tmancu | |

Q.3.a. Explain mc'mmg of MSME 'md how ﬁn’lIICb is plOVidbd to \/ISME
Q.3.b. E\(plam bmeﬁtb of Fmchh | ‘

Q. 3 c. From th{, tollumm., mtormatmn prupare ploixt aud los.s A/c of Tmy Bank lid for the

y&.ar cnded 3 Ist Malch "02”

The revenue earned by sales per umt is Rs. 400

o

“OR

Intercﬁét on Loanr\ilﬁ"')\ 23 90,000.
B'i'];\l} biscou_,n_t ( I:Jet) h’ . 14 60, 000
Rebatf{f}i‘l 'Eill DiS(J_?:_Ii’n.t _ 4-,_-9,0,000
Stat'if(;iljl:il'y and Pmntlng o f_.: -. : 29,000
:P'o“stage and felegram; 5 14,@_0.'0
Interest o'nl Cash Credlt 22,30,000
Interest on Oye;-d}élﬁ “o 5,40,000 ;
COmlnisgigj'ii : 82',_0'.0.0
Interes‘t,.';(’)}i:l. Fixed;]je;osit o 27,50,000
Intél';ist on Sa’vmg Banl_{:.-]_jeposit o 6,830,000
* Interest pﬁféurrent Account . 4,20,000
Eslab’liél-llllleﬂt Cli'ai'éés g 5,40,000
D1rector ] Fees and Allow;'st.r‘;ce 30,000
Other Expemcq 17,000

52997
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aper / subject Lode: 30014 / gleenve: rinance: Hinancing ural U:BVGIODIJI(?I}I

Rent and Taxes 1 80 000 Ll

Audit Fees o | 12, 000

I Bad debts to be written off amounted to Rs 4 00 000.. "
2. Provision for taxation at $5%: of net praﬁt )
’% Transfer to statutory rcs,ervc to be 25

™, _I'
LAY

Q.4.a. Explain advantages ot risk tmn.wement m rural fﬂlEmCL - _ (08)
Q.4.b. Explain ObJLC(IlVCS of rural devclopment - | B ' ) tOT)
Q.4.c.What 1s NS[C Also GXpl‘llI’l its functwn" ” Iy - ((}8) |
Q.4.d. Explain meaning of NBF Cs Also e\plazn comphances reqmrenn,nts g,lVﬁ‘Il by RBI tor
NBECs. | N | ©7)
Q.5.a. Explain objt::ctives of risk managclﬁcnt in rural Ifmancg. _ . | (98)

Q.5.b. Explain legal framework that MFIs need to éomplyv __f:m' providing financial services to. |
low-income clients, \ N N | 07)
Q.5.Write short notes on any three: _ | - _(15)
a. Self help group.s. _ i o '
b. National Rural Livc]_ih'oéd Mission,
¢. SMERA | 0
d. Section 11 of Bauking chulat.ion Act.,‘.-1949

e. Credit risk

52997 . Page 3 of 3
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Paper / Subject Code: 86017 / Elective: Finance: 'In;lireut Tat’éq
TYBMS <=z ~ML
;QPJ)} a0a4~ |

Duration: 2.5 hours _ I © Marks-75
. -g..—,_ . R,
Note: 1) All questions are compulsory. -5 e M'?%F:' . o
2) Working Notes should form part ufy&mr answer. LAY s )
3) Figures to the right indicate full marks. 4o : S
Q.1. (A) Select the most appgopx iate alternatives from those ngr.n below -md rewrite thc
statements. (Any 8) - ~(08)
1. The liability to pay tax on goods shall arise,at the” ’el
a) Dispateh of goods b) Removal of goods
¢) Time of supply d) Deliveryof goods.
2. Inputtax credit of  cannot be utilized for making payment of CGST.
a) CGST b) SGST
¢) IGST d) Both A & B.
3. Chairperson of the GST council 18 ;
a) Union minister of state in change of b) One elected person amongst the
revenue state finance minister
; ¢) Union finance minister d) Minister in cht_.lrgc of finance
& is levied on interstate supplies of goods or services or both
a) CGST b).-SGST
¢) IGST d) Both A& B
5. . Bupplier means person supplving
- a) Goods b) Services
¢) facilities d) Goods or services
6. The challan generated in form GST PMT 06 is valid for
a) 3 days b) 7 days
¢) 10 days d) 15 days
7..GSTINisa digit unique number.
a) 15 b) 14
e) 10 d)-27
8. E-way bill is to be generated for a value more than _~
a) 10.000 b) 3,000
¢) 50,000 d) 1,00,000
9. For banking and financial serviees, place of supply s
a) Location of recipient in records of b) Location of supplier
supplier
¢)Location of head office d) Location of recipient in records of
supplier and 1f Location of recipient
is not available then Location of
\ supplier
10. Istand for in IGST1s
a) International b) Internal
¢) Integrated d) Intra
53545 Page 1 of 5
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Paper / Subject Code: 86017 / Elective: Finance: Indirect Taxes

Q.1. (B) State whether the following statements are True or False. (Any 7) _(67)
I. Indirect tax is a regressive tax ; A
2. Person liable to pay consider ationis ru,lpzult of supply: _ "
3. Place of supply is the location of supplier when supply i is made to a rug;stu ed pcrbon
4, Supplier does not include as agent.
5. Aggregate turnover includes all taxable and taxes thereon.
6. TDS certificate is to be furnished in form GSTR-7
7. E-Way bill once generated cannot be cancelled.
8. Exempt supply excludes non-taxable supply.
9. Value of supplyis the amount upon which tax is levied and collected.

10. Import of goods or services is treated as inter-stale supply

Q.2 A) From-the following-information for June 2021 supplied by Mr Kamal Hasan. Classify
below item-as taxable‘or non-taxable and calenlate the value of taxable supply for the month

of June 2021. (Ignore threshold limit and all amounts given are excluding GST) (08)
Sr. Particular Amount -
No. : _

1~ | Security charges received from candidate contesting for 50,000
Lok -Sabha election '
2 Rent from lodge (declared taviff 800 per day per month) 60,000
3 Royalty from-temporary transfer of fradc marks 2,50,0001|
4 . |'Sale of software ) 1,00,000
57| Consultancy given in relation to cultivation of mango 50,000
6 | Consultancy given in relation to production of mango jam 1,10000
7 Private tuition fees from school students -1,00,000
& Health care services rendered -~ 30,000

Q.2 (B) Vikas Itd is a manufacturing concern in Mumbai. [In FY 2022-23 total value of supply

including inward supplies taxed under reverse charge basis are Rs 1,55,00,000,as per the

following. Explain whether Vikas Itd is ciigible to opt for composition scheme. (07)
B ’ Particulars Rs
Intra State Sup.p.lies o~ 60,00,000
ntra state Stpplies made which are subject to 0% CGST | 60,00,000
Intra state Supplies which are wholly cxempt _ 30,00,000
Value of inward Supplies which is payalale under RCM 5,00,000
OR
53545 Page 2 of 5
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Paper / Subject Code: 86017 / Electivé::-ﬁFinance: Indirect [‘axes

Q.2 C) From the following information given to you of Mr. Kz uml;s‘l\at, compute the valu¢ of .
Taxable service and the Goods and Services Tax Payable for the month. All amounts given are -
excluding Goods & Service Tax. GST rate for all the supplies may be dsbumcd to be 18%. (15) |

Amount
.- Particulars
1. Commission earned on toll receipts 96,.0(7__10
2. Transportation charges on sugar 48,000
3. Service of transport of pabsmﬁel 3 by ropcw ay 1;32,000
4. Courier service ~ 1,144,000 |-
5. Transportation charges, freight collected per trip wis Rs- 1,2()(1;’- 72,000}
6. Coachingof MBA entrance exam 28,000
7. Commission from acting as comimission agent of consumer goods 36,000
8. Royalty from permanent transfer of trademarks 24,000
9. Carried out certain process as job work which did not amount to 84,000
manufacture. :
10. Commission from acting as clearing and forwarding agent 1,20,000
bl Commission for acting as commission agent of agriculture produce 1,08,000
~12. Toll receipts from highway of Mumbai to Pune 60,000

3 A) Determine the Place of Supply from the following Transactions and give explanation
to thie answer. . = (08)

1. - Vijay of Nagpur sell 30TV set to Narayan of Bangalore for delivery at Mr. Narayan place of
~ business at Bangalore.
Sita refineries (Mumbai, Maharashtra) gives a contract to Don Itd (Ranchi, Jharkhand) to
assemble a power plant in its Kutch, Gujarat refinery.
3. Mr Kishor of-Delhi being an event organizer hosted an exhibition at Mumbii to exhibit the
products of Chennai silks, Chennai, which is a registered person.
Mr Raj of Chennai supplied goods to M/s spice jet airlines of Chennai flying between Delhi-
Mumbai, The goods are loaded in the aircralt in Delhi.

o

o

Q 3 B) me following independent transactions related to Continuous Supply of goods, find out the

time of supply for each of the case. (07)
Sr. 1’10. Date of In'voice | Date of Statement of Accounts ) Date of
= : P receipt of payment
1 15-01-2022 12-01-2022 17-01-2022
2 o 15-10-2021: 16-10-2021 14-10-2021
3 17-10-01-2022 09-01-2022 05-01-2022
4 . 20-11-2021 25-11-2021 01-12-2021
| .5 ' 10-12-2021 09=12-2021 12-12-2021
OR
53545 Page 3 of 5
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Paper / Subject Code: 86017 / Electiy&; Finance: Indirect Taxes

Q.3 C) Ms Surekha purchased a car worth Rs 5.00,000 plus GST at 3% form Mr Kiran. Mr kiran

also received Rs-40,000 towards car- acctsqories which were not imcluded in the pricc A-discount -

of Rs 15,000 was given by Mr kivan: to Ms smel\h'l at the tunt. of sale of car. Mr Kiran lurcd Mr

Raj for delivering the car to Ms smckha An amount of Rs 20,000 was paid by Ms surekha-to Mr

Raj.Caleulate the value of supply as er th{, provision o? séction 15 of CGST Act 2017.

.3.D) Determine Timé of Supply Services in following independent Cases-

“'Date of " Time of ‘Date of /-
Sr. no.| - ) &
Provision of Service| . Invoice payment
| 16-09-2022 (05-10-2022 06-10-2022

2 06-10-2022 - 05-11=2022 21-10-2022 -

3 423-10-2023. 26-11-2022 | - 30-11-2022
4 |.% 06-10-2022 16-10-2022 01-10-2022
5 08-102022 +10-11-2022 16-11-2022
6 12-10-2022 '10-11-2022 12-11=2022
7 15210-2022 -] 10-11-2022 19-01-2022

(08).

(07)

Q.4 A) Viraj Started Businéss (Goods)’in the month of May 2023 in Uttarakhand, find out from

which month he will liable to register as per the provisions of GST Act:

(08)

| Month Taxable Purchases | Tax Free Purchases Taxable Sales Tax Free Sales
(Rs) (Rs) (Rs) (Rs)
June " 1,50,000 1,00,000 1,50,000 2,30,000
Tuly 1,80,000 2,50,000 1,30,000 1,75,000
August 2,00,000 1,90,000 1,90,000 1,35,000
September 1,10,000. 1,30,000 1,80,000 1,70,000
October 80,000 70,000 1,30,000 90,000
November 1,25;000 2,20,000 3,25,000 80,000
December 733,000 - 90,000 1,75,000 2,10,000
Tanuary, 3.60,000 1,45,000 150,000 110,000
February 2,50‘,00‘0 1,13,000 1,60,000 1,50,000
March 3.70,000 90,000 1,20,000 80,000
53545 Page 4 of 5
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Paper / Subject Code: 86017 / Electi\f_é;;Finmlcc:;l_.i\ljdirect Taxes

(.4 B) India Travels a goods transportation cdmpm‘y has provided information. regarding input
tax credit related to GST on inward supplies for the month of July 2022. You are requued to

calculate ITC available for the month July 2022. 07
Following input tax credits was available on various transactions. Rs
1. Purchased of Trucks for transportation of goods = 1,200,000
2. purchased of Gift articles for customers, during S1I\ru |ub1h.=_, function 65000
3. Goods lost due to natural calamity, - \ _ 80000
4. Truck purchased for imparting traifing for new drivers 625000
5. Repairs of truck from Shyam garage 25000
6. Health Insurance: puwhased for drivers (Manddtow as government issued a
nouﬁuatlon) : : ey 45000
7. Outdoor catering services from Dt,lln Chat \ 45000
OR -
).4 C. Ms. Sonia registeréd in state-of Uttar Pradesh provides following details for the month of
‘October. Calculate her net tax liability for the month of October. (15)

Closing balance i electronie_credit ledger as on 30" September is IGST Rs.2, 00,000, CGST
Rs.90,000 and SGST Rs.50,000.

Sold goods @ 28% GST to Jagruti-in Uttar Pradesh 10,00,000
Sold goods @ 18% GST to Rushikesh in Puiijab 9,70,000
Provided Services @ 5% GST to Akshay in Karnataka ~ 4,25,000
Provided Services @ 12% GST to Akadsh in west Bengal 8,-75_,O~OO
Tnward supplies @ 5% GST from Uttar Pradesh _ 7,80, OOU
“Inward supplies @ 18% GST from Telangana 50, 000 |
Inward supplies @-12% GST from Karnataka 85,000 !
Inward supplies @ 28% GST from Uttar Pradesh 6,70,000 ]
Q. 5 A) Define Business, Lonmdem‘non -and E-Commerce operator as per GST act (08)
Q5 B) Explain composite supply and Mixed supply with example. 07)
OR
Q.5 C) Short Notes (Any 3) (13)
1. Credit Note
2 Intra and Interstate supply
3. E-way Bill
- 4. Casual Taxable Person
5. Non-Monetary Conmdermon
*#****m*$**¥x**m*$$é**#$$$*$***$$****
53545 Page 5 of 5
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Paper / Subject Code: 86011 / Finance: Strategic I I‘m’mu.&l M‘tmﬂemeut

Duration: 2 %2 Hours _ W/# % Mnrks 75_.3"-

Instructions:

1) All the questions are compulsory ' ~

2) Figures to right indicate full mi‘-irks. : B k
Q.1(A) Choose corrcct :iﬁérnaﬁve and rewrite the statc:ﬁ'éht: (Any 8) __ (8)

1. Incase of Loss Asset, plovmmu for NPA should be: rnad{_
a) 15%
b) 25%
¢) 40%
d) 100% -

2. Relationship between dividend per share and earning ﬁcr share is
a) Price Earnings Ratio |
~b) Dividend yield ratio
" ¢) Dividend payout ratio
d) intrinsic value per share

1”3, Net Profit for calculation of EVA is —
~a) NPAT
"b) NPBT.
¢) NOP
d) NOPAT

4. Ifthe firm hag Ke <r, the Walter's Model suggests for
- a) 0% Payout
b) 50% Payout
¢) 25% Payout
d) 100% Pﬂyout

wn

Merger bctWeen firms engaged in unrelated types of business activity is _
a) Horizontal
b) Vertical
¢) Conglomerate

'd) Reserve

6.~ Capital Rationing helps in shareholders wealth.
' a) Maximizing -
b) Minimizing-
¢) Stabilizing’
) Measuring
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Paper / Subject Code: 86011 / Finance: Strategic Financial Management .~

'\

T Pl of a project is the ratio of present value of mﬂows to
a) Initial cost ) \
b) PV of outflows , i
¢) Total cash inflows . S
d) Total outflows <>
8. u,plesuntq those fuu}ds whlch are u,qunecl to manage day-to- ddy
business operations. "
a)  Long term capltai e
b)  Short term capital
¢)  Workingcapital -
d)  Noneofabove
9., Which among the following is Short term som ces of wor lum__, capital ﬁnquum,?
a) - Bill discounting -
b) . 'Letter of tredit
¢) - Commercial paper™
d)  All of the above’ _
10, is a schematic rcprc;sgénfation of several decisions followed by different
chances of the occutrence.
a) - Sensitivity analysis ",
b)  Probability techniques
¢) Risk Adjusted DIScountmrr Rate
d)  Decision I‘ reg:
Q.1 (B) State whether given statements are True or False: (Auy 7) (D
. Corporate governance ess:,nhally involves balancing -of the interests of only
shareholders. '
2., Dividend policy is decided byt the sh'ucholders
3. MM model deals with relevance of dividend decisions.
4. Préference dividend is deducted froni NPAT for calculation of EPS.
5. Standard asscts are those assets which do not have any risk.
6. - Capital budgeting deciéions invelves huge investment outlay.
7. In order to pr otect the eqrnmgs ‘available to shareholders, the swap ratio should be
based on MPS,
8.  MPBEF refers to Mﬂxlmum Permxssibh. Bank Finance.
9.  Discounting of bills is converting the bill into cash.
10. - Dividend payout ratio refers to.that pomon ‘of total earnings which is distributed
 among-share 101dcrs b -
RT Ltd. has a capltal of Rs 10 00, UUO in equity shares of Rs. 100 each. The shares

Q2A.

are Lunenlly quoted atpar. The Lompdny proposes to declare a dividend of Rs. 10

». per share,at the end of the current financial year. The capitalization rate for the risk
. class of which the company bclﬂngs is 12%. Compute market price of the share at

53450,

the end of the ye'u~ if RS (15)
:) leldend is hot dec.ldred
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Q.2B.

Paper

ii) dividend is declared -
Assuming that the company pays thx, d1v1d-.,nd 'md has net. pJ ‘ofits of Rs 5,00,000°"
and makes new investments of Rs,10,00,000 during the peuod cﬂcuhte number

of new shares to be issued? USL the N[M modul '

With the help of followmq Ggmcs, nlcuhtc fhc mail\Lt puce of a share Uf mmpany i

by using:

OR

i) Walter’s formula
i) Gordon’s formula-

Earnings per share (EPS) Rs. 10
Dividend per Share (DPS) Rs. 6
Cost of Capital (Ke) & 20%
Internal rate.of return of’ anBSmeJ]t 25%
”{etentlon Ratio 5 40%

PYR Ltd. is cons:denng a pm_lect with: thu following C

Cash flows:

/ Subject Code: 86011 / Finance: Strategic Financial Management

-(13)

(15)

| Year Cost-of Plant (Rs.) RunnmgD Cost (Rs.) | Savings (Rs.)
0 12;00,000 " -
1 s N 4,00,000 12,00,000
#4 - ~1°5,00,000° 14,00,000
3 - - =1 6,00,000 11,00,000
The cost of capml is 12%. Mcaqme the sensitivity of the project to changes in the

levels of plant cost, running cost and savings (considering cach factor at a time) such

that the NPV becomcs Zero. The PV, Idctou at 129 are as under:

Year _ N0 l 3 2. ~° |3
PV factor @ 12% . AR 1 0.892 0.797 |0.711
Determine the-factor whlch is most sensitive to affect the acceptability of the project?
' “OR

Q.3B. Mohan Ltd has Rs. 3§;.0'0,000 allocated for capital budgeting purposes. The proposals
and associated profitability indéXes have begn determined.

(13)

Projects | Initial Investment (Rs.) | Profitability Index
P 10,50,000 1.22
Q 5,25,000,- 0.95
R 12,25,000 1.20
S 15,75;000 1.18
T 7,00,000 1.20
U 14,00,000 1.05
1) Cdlculat;. the Net Present Value for each-of the projects
i1) Wlnch of the above 1nvcstments shouild be undertaken? Assume that projects
are mdlvls:ble and lhore isno d]tttl ndtivc use of the money allocated for capital
budgetmc
Page 3 of 4
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Paper / Subject Code: 86011 / Finance: Strategic Financial Management

i1) dividend is declared .
Assuming that the company pays the' clmdend dnd has net profits of Rg. 5,00, 000 v
and makes new investments of R$.'10,00, UOO durmg the period, calculate numbu
of new shares to be issued? Use the MM mudcl

OR:
Q.2B. With the help of foIJowmg, ﬁgures, alculate lhe maxket price’of a share of camp‘my
by using: 3 : (1::)
i) Walter's formula Ke
i) Gordon’s formula~ i) £y D
Earnings per share (EPS) | Rs. 104
Dividend per Share (DPS)"~ Rs. 6k
Cost of Capital (Ke) . 20%
| Internal rate of return Op” 1nvestmunt 25%
| Retention Ratio ary ~40%
Q.3A PVR Ltd. s COIlSldCllll‘T a pmject with:the following Cash ﬂows (15)

Year Cost of Plant (Rs.) Runnng Cost (Rs.) | Savings (Rs.)
0 12,00,000 - ;

1 - 4;00,000 T 12,00,000

) - \75,00,000 14,00,000

3 - 1 6,00,000 11,00,000

The cost of capltal is 12%: MLasurc thc sensitivity of the project to changes in the
levels of plant cost, mn_n_mg cost and savings (considering cach factor at a time) such
that the NPV becomes zero. The P.V. factors at 12% are as under:

Year 0 / [ 3 3
PV factor @ 129 1 0.892 0.797 10.711
Determine the tactor whlch is most senSltlve to affect the acceptability of the project?
. 4 L \OR .

(Q.3B. Mohan Ltd has Rs. 3:) 00 000 allocated for capltal buc!%tmg;, purposcs. The proposals

53459

and associated profitability 111clcv.es have been stCll"nlI]Ed (15)
Projects | Initial Investment (RS.) Plotlt'lmlxtv Index
P 10,50,000 = - 122
Q 9,25,000~~ 0.95
R 12,25,000 1:20
S 15,75;000 1.18
T 7,00,000 1.20
U 14,00,000 1.05
1) Calculate the Net'Present Value for each of the projects
1) Which of the above investments should be undertaken? Assume that projects

are’indivisible and there'i isno altem'lln use of the money allocated for capital
budoetlng
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Paper / Subject Code: 86001 / Operation Research

'T(/BMS .Senmy- VI
Apn/ - 2024~

Time: 2 %2 Hours Marks: 75
Notc: |. All questions are compulsory. ¢ Subject to internal Choice )
2. Figures to the right indicate full marks.
3. Use non--programmable caleulator is allowed
4. The normal distribution.table is printed on the last page for reference. -
S. Support your answers with diagrgunsfﬂlustratiEn’is, wherever necessary.
6. Graph papers will be supplied onrequest. -
Q1 (A) Multiple choice questions (Atfeliipt Any 8) (8)
. A BFSofaLPP is said to be ~==--=nemmveese- if at least one of the basic variables is zero
a) Degenerated b) Non- deﬂcn":rated ¢) Infeasible  d) Feasible
For solving an assignment problem, which method is used?

a)  Hungarian Db) American o ¢)German  d) Italian
3. A feasible selution is called a basic feasible solution if the nurber of non-negative

2

allocations 18 equal 10 ~w~mmsmmqemm
a) m-nti b) m+n-1- ¢) m-n-1 d) m+n+]

4. Which method is an iterative procedure for solving LPP in a finite number of steps
a) Simplex algorithm -~ b) Simplex.method ¢) slack method  d) M-methiod
30 AN (:i’.»jc.c;'.i\fv function is maximized when it is & -------=--- function.

) Profit  b) passive  ¢) cost d) time
o |11 an 15\15|mu,n‘f ploblcm involving 5 workers & ’?Jobs the total number of assignments
poqm le T
a) | b)10 (,) d) 20
7. is known as the time by.which actiy ny completion time can be ublayed without
am,umw the start of succeeding activities, .
a) Total float  ©'b) interfering float ¢) independent float d) Free float
The probability of a normal curve is .
2) 60%  b)70% . ¢)50% .d)55%
9. What is the probability of project \completmg in 55 days if the expected project completion
time is 47 days & table value is {(+0.4890)
a) 98.90% b)99% ¢) 90% . d)98% .
1 0. What is the total idie time if jobs are plomsswl on 2 machines and idle time on machine A
is 11 and on machine B is:1:5.
a)25>  b)26 ¢)23..d) 24

[ole]

(1 (R) Truc or false (Attempt Any 7) (7)

i, Is coneerned with using scientific approach i.e. logical reasoning to sclve problemns for the
management by ensuring optirnum utilization of resources

ii.  Any change inthe uoa‘;tramt mequahueq will have a proportional change in the cbjective
function :

i Inge aphical method, 1nfc181blhty happem we cannot find feasible region.

v CJIdphICrll method can be used when the number of decision variable at two

v.  Anarlificial variable 1s a ﬁctltlous varidble in LPP-problems. -
vi.  Surplus variables IL,I)ILSLHT an excess-amount of resources utilize
vii.  When the number of lines is not equal to size of matrix the solution 1s optimum.
vili.  There aredwo types of techniques available to find the initial basic feasible solution.
The network, can have one or more start node and end node.
v, Pessimistic time is the shortest:time period expected to complete the activity.

52690 Page 1 of 6



Paper / Subject Code: 86001 / Operation Research

Q.2 A) A Company manufactures two products A and B, To manufaclure one unit of A, 1.5 machine
hours and 2.5 labour hours are required, To manufacture product B, 2.5 machine hours and 1.5
labour hours are required. Tn a month, 300 machine hours and 240 labour hbl.ll‘h are ava;labh.
Profit per unit, for A is Rs, 50 and for B is Rs 40. “w
Formulate as LPP L O Q )

Q.2 B) Solve following LPP by Simplex method . S y T (7)
Maximize Z= 50 x; + 20 x2 ' 4 '

Subject to Constraints
20x+ 1082 <300
50x,F S0x2= 300

X, %22 0
OR
Q.2 C) Solve following LPP by Graphical metizod. AN ~{D
Maximize Z= 2x; + 10 x2
Subject to Constraints
2xp AN = 16
ixy < "U
N lig xt >0 :
Q.2 D). A S.llu; manager has to assion wlum-. n to four territories, He lms four cdndzd'ltus of varying
_experience and capabilities. The manager ussesses the possible profit forgach salesman in cach
tertitory.as given below : ' '
Salesman 4 ¢ 1_ rritory a
. 11 i T3 T4
S 51 35 ) 28 |37
52 28 .29 140 -
1S3 Oy 135 ol ne32 &9 33 X
(84 A 24 Ay |25 N 2800
Find the assignment of salesmen Lo the territories so that total profit is Maximum. 8)

Q.3 A) From the Following details of the project : _
i.  Draw the network dingram and identily crifical path A 3
. [~md out Earliest Start and Finish Time, Latest St :1rt .md I‘lms,h I‘lme of Each activity

(3)

Activity ' Node Du ratiun

(Days )

A B E

R ] 6

€ ) -5 13

D 2-3 5

E IEERE 20

F 4-6 10

G 36 16
I'H 156 16

52680 : Page20(6



Paper / Subject Code: 86001 / Operation Research

Q.3 B) A company is transporting its units from three factories Fi, 2, F3 with the pr oduction
capacities od 11,13 and 19 units (in thousands). It has four war ehouses Wi, W,,, W3 smd
Wa. With demands of 6, 10, 12-and 15 units (in thousands ) 4y :

anits cost of transportation is given from each factory to each warchouse: -

Wi W2 W3 W4
1 42 |- 32 50 | 26
F2 34 36 28 46
F3 64 54 36 82
Construct a Transportation table and Find Initial feasible solution by Least Cost Méthod (LCM)
&)
: OR
Q.3 C) From the data given below
i. Draw adiagram 2)
ii.  Find Critical path (2)+~
iii.  Crash systematically the activities and determine optinial preject duration  (4)

‘Activitys | Normal” Crash Cost Maximum
Duration (Days) | per day{ Ks) possible Crash
' Time
12 e 80 )2
143 8 : oo - |4
1-4 - 5 30 2
24~ |3 - (o
2.5 56 404y 2
3% o 200 |4
|:4-6 8 50 3
56 . |6 - 0

Cost of completing eight activities in normal time i5 Rs. 6500 indirect cost Rs. 160 per day.

—_— e

Q.3 D) Fivejobs LILILIV and V areo be praeessed on two machine A and B in order AB

- Processing Time (Min)
Jobs Machine A J\/_ngh_l_nc_B ol
ol 90 70
1 40 80
o< 40 50
IV 30 0 10

Ve 25 EE

1) Find the sequence that minimizes the total elapsed time
2) ‘Calculate the total elapsed time
3) Tdle tlmc on for each Machine

Q.4 A) Thm, are Six obr, (namely 1
B and C in the crder- A

52690

Jobs 1 2 3 4 S 6

‘Machine A~'| 12 | 8 7 11 10 5

Machine B 3, 4 2 5 2 4

Machine C i 10 9 6 11 4
Page 3 of 6
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3)
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34,5 and 6 ), each of which must go through machinesA,
BC. PI{}cessm;, Time (in hours) are given below: ;



Paper / Subject Code: 86001 / Operation Research

(i) Tind the sequence that minimizes the tota] elapsed time required to complete the job (2) -
(ii) Calculate the total elapsed time * (3)-

(iii) Idle time on Machine A, Machme B and Machme e : 3)

Q.4 B) you are given the Pay- off (PlOﬂt in Rs.) IlldlllX in respect of Two-Person-Zero — Suri
Game as tollows :

Plz{yer B
Bl B2 B3 B4 5
Player Al 500 260 200 210 =
A AZ | -50 2100 40 240

A3 200 400 60 20 __l

Ad 17250 L300 =100 |5 B
(i) Find the Maximin Strategy., - (3)
(ii) Find the Minimax Strategy. {3)
(i} What is the value of the Game? (1)

: OR ;

Q.4 C) A company is transporting its units from three factories Fi, Fz, Fsto tOLlI warehouses

Wi, Wa, W and Wy, The supplu and demand of units vith transportation Gost pu unit LinRs ) R SR
are given below with fe asible solution (Thc numbers which are in cu(‘k indicates 8 .mmim uf -»' ; vt

upits transported from Factory to \\'clrbhﬂllbb} / 2 el -
Plants ; Warehouses ' T Supply
N _ in Units
Wi W, | Wi W =
Ey 10 11 W7 | < 4 40
D) @)
L - ) , : _ ) -
F2 7 13- 16 1l L
Fs el e b 8 10 13
Demand in Units, 25~ 35 16 24 100
(1) Test the solution for optmmlxl) 3)
(ii) If solution is not optimal. find optimal solution. (5)

52690 X Page 4 of 6



Paper / Subject Code: 86001 / Operation Research

Q,4 D) A small project consist of seven activitics. ('}_p'ti'mistic,' most likely and pessimistic time
estimated in days are given below N

Activity [Preceding [Most likely | Pessimistic
Activity Optimisti  [Time

c Time _ -
A - 2 5 8§
B - 2 5 14
S A B 6 14
D SUA 5 7 15
E B,C 2. 3 10
F D 35 3 3
G E ol 2 -

i) Construct the network diagram of PERT network and find expected completion time
of the project. (3)
iii) Determine the probability of completing the project in 21 days. (4)

Q.5 A) Deline operation Research and What are the Characteristics of Operation research

technigues? (8)
B) Explain Objective of Project Crashing of Network analysis (7)
OR
Q.5 C) Write a Short notes on Any Three (15)

i)Degeneracy in transportation
1) Dummy activity innetwork analysis

{ii) Three time estimates in PERT
iv) Project crashing
v) Assumption in LPP

Sl

= gy—amiggi v vt = |
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Paper / Subject Code: 86019 / Elective: Human Resource : Indian Ethos in Management

PSS 2T
ﬁ’ﬂ/’%%

[Time: 2.30 Hours] _ [Ma: les: 75] .'
N.B.: Please checkwhether you have right question: paper |
1. All questions are compulsory

2. Answers to sub-quéstions must be written together

Q 1. A. Fill in the bl:mlc chuosmg correct option (ANY F](fli"l) (8 hflaflié)

1. According to ' life does not just happen, it requires individual’s
partlupatton '
a) law of creation’ b) law of responsibility =
¢) The law of cause and effuct d) law of growth
2 Ac.cordmg to ., oneshould lake responsibility of his or her own life.
a) law of creation T b) law of responsibility :
¢) The law of cause and effect d) law of growth

3, - karma is for a body of persons united for a specific purpose. ay
a) Plalabhdha Karma b) Nishkaam Karma ¢) Corporate Karma  d) Sanchit Karma
4., Ego sublimation means

a) We feeling rather than 1 b) F 10]11111, ‘;pult
c) '].ndividuai Achievement d) Ego Defensive Mechanism

5. According to Kautilya Arthashastra, ~~ © s the visionary leader.
a) King - b) Manager ¢) Customer d) Soldier

6. Employees and all stakeholders are treated like a family, by the
ina family managed business,

a) Karta b) Transformational Leader
«¢) Transaetional leader d) Coparceners »
7. A lcadcz who revises goals, redefines objectives and provides. straterru:% is called

a) Tnmsforlnatio;—lﬂ] Leudr;_-r b) Protessional leader

¢) TFransactional leader d) Charismatic leader

&y ) is'usually known as insight meditation which means
‘to see things as they reaily are. ’

a) Vipassana Meditation b) Mantra Meditation

¢) Raja Yoga Meditation d) Trataka Meditation

B = o~ helps an individual in improving concentration power.
a)-Vipassana Meditation -b) Mantra Meditation

¢) Raja Yoga Meditation d) Trataka Meditation

10. The act of Shishya of memorizing the shloka, recollecting and reproducing the same
is called .

a) Smriti _ b) Shruti ¢) Stotra d) Smriti and Shruti

Q.1. B. State whether the following statement is True or False (ANY SEVEN) (7)
=1, According to law of responsibility, whenever there 1s something wrong in an individual’s
- life, it is because thefe 1s something wrong in themiselves.

2. Indiani Ethos dqal's with two types of knowledge, knowledge of creation and knowledge

of creator. 3’ :

3 DJSClpllne punctudhty and dignity of work are basic level work ethos.

4 Values aré imbibed in‘an individual since childhood and differ from person to person.

5. Physical stress can.be due to Iong term stress.

6. Distress is type” of positive stress which improve enthusiasm, creativity and

productivity among employees.
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Paper / Subject Code: 86019 / Elective: Human Resource : Indian Kthos in Management

7. Burnout is a negative stress Wh]Ch 18 u\pam,m,u,d by pwplu who suffei for a 101'1};,
duration of time.

8. Experience is said to be the bcsf teacher,. a,s it has the real touchi 1n it : 5
9. Transformational leaclcls h'lva the ablllty to bring bhdn'ﬂ_s 1111115 mlnd set, of people
in the organization. ' e
10. Prescribed syllabus i isa h:,ature of Cru;ukul System of Educalmn

Lo ¥

Q.2 a) Explain various elements of Indian Ethos practiced by Indian Organizatiqﬂ;“ {08)

Q.2 b) Describe in det’ul role of Indian Ethos in managerial practice. . (07) ~
OR ; 3 A

Q. 2 ¢) Describe: rcqms;tes of Indian Ethos. (08)"

Q.2d) Describe management lessons from Mahabharat. ' {07)

(Q.3a) Disciiss factors.responsible for poor work ethos. EN; (08

Q.3b) Compare Secular and Spiritual Values in context of management of )

organization. - : , (07) "

Q.3¢) Which values are important for Indian Managers? (08)

Q.3d) Dt_qcﬂbc basic as well as top level work ethos. < OT)

Q.4 a) Dé:scribe advantages and limitations of transformational leadership. (08)

Q. 4 b) Explain chiaracteristics of charismatic leadership. (07)\

: OR :

Q.4 ¢) Dcscrlbe stress management techniques at organizational level. '(08]

Q. 4 d) Enumerate various characteristics ol visicnary leadership, = - {07)

Q. 5 a) Describe modern system of learning. (08)

Q. 5'b) Explain various Laws of Karma, | - (07)

' OR
€. 5 Wrile bh()l t Noteson (Attempt any 3 out of 5) b (15)

i. Gurukul System of Learning

ii. Joint Hindu Family Business

iii. Concept of Yog along with its benefits
iv. Leadership qualities of Karta

v: Physical benefits of meditation

ek ok ok kR g
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Paper / Subject Code: 86002 / Elective : Finance: International Finance

SN~ S~V

7 7
Duration: 2.5 Hours k) W/" %75

Note:

Q.1

(a

(1)

(2)

(3)

4

(6)

52224

1) All questions are compulsory subject to internal choice.
2) Figures to the right indicate full marks. ;
3) Use of simple calculator is allowed

Multiple Choice Questions (any 8):

is the branch of economics that studies the dynamics of exchange rates,
foreign investments; and how these affect international trade.

(a) International Finance

(b) International Marketing

(c) International Economics

(d) International Monetary System

The asset price at which the investor can exercise an option is called price.
(a) Strike

(b) Spot

(¢) Future

(d) Forward

Currency that is used as a unit of account, medium of exchanze and store of value not
only for transactions within the country, but also for international public and private -
transactions, is called as currency.

(a) Vehicular

(b) Home-

(¢) Variable

(d) Foreign

BBC Gilobal 30, S&P Global 100, S&P Global 1200 are examples of
(a) International Equity Benchmarks

(b) Yankee Stock Qffering

(¢) Cross Listing of Shares

(d) ADRs '

S~ is the risk of exchange rate that creates an impact on the market value of a
company.

(a) Feonlomic Risk

(b) Transaction Risi

(¢) Translation Risk

(d) Liquidity Risk

FOREX market facilitate the conversion of one currency into another i.e. payment

between exporters & importers. This function of FOREX Market can be referred as

(a) Transfer of Purchasing Power
(b) Credit Funetion

(c) Hedging Function

(d) Risk Management Function

Page 1 of 4
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Q.

(7)

(8)

(%)

(10)°

1(B)

P'lper / Subject Code: §6002 / Elective : Fttmnu, Inter n-ll:om}l Finance

\..—~

fl

is the process of assessing.in astr uLumd way, thu case for pm:,cudnu, \Wth

a project or proposal, or the prmect s vmbllllv
(a) Project Appraisal

(b) Project Management -1‘:-'-:_- " 3 " ]
(c) Risk Mitigation \g .
(d) Risk Management N )

1 7Y

poIﬂuEITy and E'COTIUH'HC:‘LH}’ ata’nc umrcmmmt . : =\
(J) I‘l‘{ I’ILIVL“ { ;- \ » \ ) )

(b) Offshore B'mlcmo Unit =

(¢) FOREX Mar l\et | ;\’.- X
(d) Tax NLthl’llb A

\

iy ol\ es the SlT'i‘IL[ltdnLOLIb huwnn Lmd ‘C!im‘ of an asset in-prder to profit

from small dll[klt.ﬂ(.trh in price:
{a) Hedging

(b) Speculation:

{c). Arbitrage~

() Tovesting

Exchanée Rate1s 4 'a}h\[t.’l]l wheie the cutréney price is set by the forces of

forex tiarket i. e, demand and supply of currencies.
(a) Flexible

(b) Fixed

(¢) Managed Fioat

(d) Gold

Stutc'%ﬁ’ hether the following statenments are Frue or False (any 7):

L

T«

5)
9)

10)Under Bretton Woods system, countries could use USD as a medium of exchange

; Umlal.u__a_l- Transters are recorded under Capital Account'of BOP.

FEMA was replaced by FERA .
NPV is a non-discounted T'C-Chlli(]llL‘. (:-{'t'.'upilul Budgeting.

1f the Quote.is given as USD-INR 83,1550-75: This quate is called as “Direct

- Quote” in New York.

Indiadisa Tax Haven nation.

There is easy-ertry and exit in FPI.

To be cross-iistcd, 2 company must comply with the requirements of all the stock

-6\LII'1I]UP in which it is listed;

Changes in market inflation cause changes in currency exchange rates.

Call option gives the right to buy an-asset at a fixed date and price.

for international settlements,

Page 2 of 4
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Paper / Subject Code: 86002 / EI&tive : Finance: International Finance

Q.2.(A) Discuss the significance of International Finance in today’s context. (08)
(B) What is Balance of Payments? How is it different from BOT? What is meant by (07)
Autonomous and Accommodating Transactions?
OR
(P) The following quote is given in 'Canada: 1SGD = CAD 1.0110-85 {08)

1) In which country, the quote is “Direct™
2) In which country, the quote is-“Indirect™?
3) What is the Mid Rate?

4) What is Spread?

5) What is % Spread?

6) Caleulate the inverse quote.

(Q) The following quotations are available in USA (07)
| USD = GBP 0.8350-0.8425
| USD=CAD 1.1125:1.1175
And the quotation avaiiable in-Canada is: | GBP = CAD 1.5550-1.5650
s From the guotes given in USA, derive the quotation for 1 GBP in terms of CAD
Conpare the derived quotation with quotation available in Canada and identify if any
arbitrage opportunity exists. (Assume Capital GBP 2 Million)

9.3.(A) What are Eurobonds? Explain different types of Eurobonds. (08}
(B) What ar¢ Currency futures? How are they different from Currency forwards? (07)
, OR
(P)  Consider the following information: (08)
Spot CAD/SEK 7.8650 - 7.8700
1 Month Forward 50 - 70
2 Month Forward 290 - 340
3 Month Forward: 920 - 1020
6 Month Forward 1500 - 1600
Calculate 1 Month Forward, 2 Month Forward, 3 Month Forward and 6 Month Forward
CAD/SEK Rates. '
(Q) Spot USD/INR 83.]1525 (47)

3 Month Forward USD/INR 83.2525
Calculate 3 Months AFM and interpret the results.

Q.4.(A) What is FDI? What is FPI? How are they different from each other? (08}

(B) Discuss global money market instruments. (07)
OR

(P Given: . (07)

Spot AUD/JPY: 99.1575

AUD Interest Rate = 0.75% p.a.

JPY Interest Rate = 1.50% p.a.

Calculate three month forward AUD/JPY rate

Q) From the following data, find the best alternative for investing INR 5 Million for a  (08)
temporary period of 3 Months. Exchange rates are against INR.

Currency Spot Rate 3 months Interest rate
forward rate - |
1, | USD 83.5650 83.5950 5% p.a.
12, |-BEUR 90.1225 90.0550 3% p.a.
13. |GBP - 102.5650 102.5750 4% pa.
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Q.5.(A) What are the Benefits towards Par t1es clo ing Bli‘:lll(.‘-vb Iulu natioually? _ g
Ms. Gurneer is planning to buy a nmchmc W‘LILII would 1 gcnq..mtc Ldah flow a[’tu t'mh
as follows: \ s \ L s
CFAT in USD (1,00,000) | 24,000 32,000 [60,000 132,000 Cf
If discounting rate is 10%; 571t worth to invest in-machines. - ~
Year X |17 A 287 K3 4 X
Discount Factor 0909  |.0:826 +[70.751 0.683._"
S OR ‘ ’
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Write Short NOfEb on (any thir LQ}

1) Fixed \fs Elc*{lLlu Exchange R e Systen,
2) -‘\DR‘S“V& GDRs. -

3) Ff\fu'm E‘{uhanm.. Dealers™ Assoi: wtion of Tndia

4) PRPT heory:
5)¢ Ew oer ccat

Page 4 of 4

09) .

@73}’



Paper / Subject Code: 86010 / Human Resource : HRM in Service Sector Management

WM&- S

§ e
TIMIE: - 2 ¥4 hours MARIxS. -7
NOTE; -All Questions are compulsory A o~ A
Figures to the right mdumte full m‘n ke, o S K
¢ . Bt s P M #
Q.1 (a) Fill in the Blanks: (Auv Ex;,ht) el o A =1 (8)
1. is also qclf—devcl Dpcd throumh formal wnttcn documents and
communication. (Rusom ce, Product, '%cwu:c Commaodity) Mg e %
Z is an/ anmpie of busme%s-to busmeqs bél’VICb (Ac[ agcncy, Amazon,
Flipkart, Myntr*i) o~ ~t ; ™ W
3. Service organization is a vo]ummy wherc munbeLs meet rcg:ulally to perﬁarm
Ch"lllfablb works (Commucm[ orgdmzah()n, non—pmf t: Grﬂam?atlon sick uml"' n
profitable orgamzatlon) A AV N Vi 4
4. systerivis dcsmncc and mandgud for the pa ta,cuon m dehvcry of core e
Servu:ea (Manufactm ing, Packaging; DC]]VCI}, Labelling) -
5. % evaluat:lon is thc ayquemam process of dqul‘m[l‘lm" thc succ;sq of the HR.P
proccss (HRIS HR, HRP HRM)" o) - o P
,-\6: ) ~*"has bt.cmm aregular feature both in the publlc sector as wcll as m the
K ” pnvate bucror oforz_clnl.mtmﬂfs (E‘(]‘!Di‘fll‘l Impmtm},, Franchising, Outsomumﬂ)
2" 7. One. challenge: that - HR professionals are currently facing revolyes around tht,
smff ing of nurses and docmrq (Banking, Hcalthmm R‘nlwayb Dcfemc) '
S.Q'_In service. ﬂap model gap 1is .= (Mamnmmnt pcrccptlon, Customer
o bXPCCtdtlE)ll Service quality speutloatmn, Sumue delivery) A
A9, Intemctlve marketmg of service tnang,lc [reans (Dehvermg the promls-u,
Enabhng the promise, Setting the promise, Disable: 1he pT()ml'iC) -
10. Develop a_wo  of the tompany such that unployecs have pride i in’ workmg for the
fm'n (Publlc image, Ro e [:vl".ymcr Situduondi wgbm,tte had 1111.15,;,)
Ql (b) True or Falac (Any %w.n) N =) ol (7)

1. The structure and order of the organization docs not limit innovation and growth
2_._:-"'.Empioyﬁ:cs and managers :mdiiy offer their assistance to cach other to meet
3 corponte: ObJCCtIVb‘a - :

3 In many service industries the suuch for prodmtlvlty is a not important

4. Teachers’ salaries are paid: ;1[011gsxdn, other civil servants

5. Agents and, bI'Ol(E‘.I‘b do not work on commission: basis

6.~ Conflicts betwet.u ulstomua are Uncommon:

5 Hum'm f'ebOUJ'CGS plofessmmls ‘or consultanits can train new workers:

o T&nglblllt}f is the primary characteristic. that distinguishes services from goods
‘9, The: DINK culmrc is gefting stronger dlld spreading wider day by day

10. Empathy is lhe key qu.zhty p'uamt,t-:,l in services

)

0 2 Artempt any twa flom the followmg

(a) pr ain the ;0[6 of serv;cb cmployeﬁ.&‘? 8)
(b) What are tl:(wrcabonb for growth aﬂd development in the service sectot? @)
o o OR
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(¢) Explain in detail the six-market model; mth ,mtdblr, exmaplus, A ;.(Es)
(d) Explain the concept of employee empowerment how does rt»tfelp to pmvide betterf‘ R >
'.., p ‘_l v § 2
services to customers? . & ”._:,:-J. N g Ry )] Ry
A A7 tyy? O
Q.3 Attempt any two from the followm ‘ el A ,f;-""“ .;_ T A
(a) What is the meaning of Globallzanon how globailmuon will enh’ance the:i browth and )
development in the service industry? 2% v ™y A & (3)
(b) Reasons and qnabeg,xes 'Ldoptcd to fill the g gaps i m the ser v1ce gap modal*'txplam‘?‘“ (’?) )
- OR ’- "_.. n__‘. r\.‘ )
(c) Discuss advantages and chal!n]ucq of dc]wel ng eemcus tluough agents, and: b"iokerc:? (8}
(d) Expi'un in detzul thc pmcess of HRP L'\'"‘lllcltloll‘? o o {7) A7
Q.4 Attempt any: two from. tlu: followi mg. e _ 1‘“ e
(a) Explain in detail the cumepl of moment of tmth with er;'lmplew‘? S8y
(b) As per your opm:on What various'quality issties are in scrvices = o (D=7
\.— L ; -"f'- N OR . ' \ .I.{::_\ . ;‘:_, .An\ _:..I"'-"‘
(e) Dl Terence bn.,tw een cycl lb of TuImL‘ mediue 1t}-'_, and su.ccc.s__S?" I : % 8 A
Q@) Explmn tﬁe concupt of Su vice luadu Shlp, W xth u\amplt.s" el (7)
Q 5 ertc Shm’* Notes on: (An} i ce) . el (15)
' ‘. Employee retention in serviee sector &5 £
_\__;} 02, Servigescape - _ A” A
.77 3. Interviewing téchniques ) -j‘» Y
.7 4. Customer satisfaction dtives Lustomu on";lt)- A7
e 3 Flont hne emp[oyecs e oY
_— ) o : ;k:;,-*:g*g;*;g:g:;::g::;c*_g:_:;;ﬁfa‘-:g
{1‘\\ AL | |
% o
\,.,.‘ % 1
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